Chart of Common Imperatives

To form the imperative in Greek, add the following endings to the appropriate tense stem.
(For 1st Aorists, change the -oa ending of the indicative to -cov or -cat). Remember that
aorist imperatives receive no augment.

2nd Person
Active Singular Plural
Present/2nd Aorist +e + Te
1st Aorist + oov + Te
Middle Singular Plural
Present/2nd Aorist + oo (ovu) + oBe
1st Aorist + oat + obe

Tavw, Tavow, éravca (1st aorist)
Aettreo, Aelyco, #EArov (2nd aorist)

Active Singular Plural
Present/2nd Aorist Tave/Aie Tavete/AiTeTe
1st Aorist Tadoov TavoaTe

Tavw, Tavow, émavca (1st aorist)
déxouan égoual e8eEduny (1st aorist)

Middle Singular Plural

Present Tavou/déxou TaveoBe/Séxeobe
1st Aorist Tavoal/SéEan Tavoaoche/BEEacbe



